
          Solution of the day/ August 22, 2019 

 6th Class 

 Mathematics: Ans : (B) 
35 + (10) + (15) + 20 + 5 = 3510 15 + 20 +5 = 3525 + 25 = 35 

 Physics: Ans: (A) 
11 1 9.8 1 0.102

9.8
mgh J h h m        Mgh = 1J  

 Chemistry:  Ans: (D) 

 Biology: Ans: (D)  

7th Class 

 Mathematics : Ans : (C)
 
 

2x y 2 .....(1)   

x 3 2 .....(ii)
y 3 3





 

Putting the value of y in equation (ii), we get 

x 3 2
2x 2 3 3




 
x 3 2
2x 1 3


 


 

x = 7 and y = 12 

so fraction 
7

12
  

 Physics: Ans: (D) 

 Chemistry: Ans: (D) 

 Biology: Ans: (B) 

8th class 

 Mathematics: Ans: (B) 
B= 3A 

C = 2B   C = 2 × 3A = 6A 

 A : B : C = A : 3A : 6A = 1 : 3 : 6 

 Physics: Ans : (D) 

 Chemistry: Ans: (B) 
Mn+2HNO3(dil.)→Mn(NO3)2+H2

 
 Biology:  Ans: (A) 



9th Class 

 Mathematics : Ans : (C) 

The mean first ‘n’ natural numbers =  1
2

n   

 1 5
2 9

n n
   

9 9 10n n   

9n   

 Physics: Ans : (B) 

 Chemistry: Ans: (A) 

 Biology: Ans: (A)
 
 

10th class 

 Mathematics: Ans : (A) 

It is known that the system of linear equations 1 1 1 0a x b y c   and 2 2 2 0a x b y c   has infinietly  

many solutions, if 1 1 1

2 2 2

a b c
a b c

   

The given equations are : 

5x + ay + 7 = 0 

by 12 21 0y    

Here, 1 1 1 2 2 25, , 7; , 12, 21a b a c a b b c        

5 7 5 1
12 21 12 3
a a

b b
     

 
125 3 15, 4
3

b a 
          

 Physics: Ans: (C)  

 Chemistry: Ans: (B)  

 Biology: Ans: (A)  

 Reasoning : Ans: (C)  

 
Hence, 30 will come in place of 35. 
 


